WINTER 2008
IPC144 TEST 1 

NAME: ______________________________

(40 Marks – worth 20% of final mark)

1) Walkthrough the following and show ALL outputs produced

a) (5 marks)


#include <stdio.h>


int main()


{
int a = 7, b, c, d = 3;

    

double e;



a = a / 3;

    

b = 2 + 3 * 3;

    

c = 7 % 3;

    

e = d / 2.0;



d = d + 4.7;

    

printf("a: %d, b: %d, c: %d, d: %d, e:%3.1lf\n", a, b, c, d, e);


}


OUTPUT:

a: 2, b: 11, c: 1, d: 7, e:1.5
b) (4 marks)


#include <stdio.h> 


main()


{    
int x = 2, y = 3;

    

if (x < 10) {




printf(“M\n”);




if (y > 10)





printf(“N\n”);




else 





printf(“O\n”);




printf(“P\n”);



} else if (y > 10)





printf(“Q\n”);




else 





printf(“R\n”);




printf(“S\n”);



printf(“T\n”);


}


OUTPUT:

M

O

P

S
T

c) (6 marks)


#include <stdio.h>


main()


{
int a = 3, b = 7;

    

while (a < 7) {

        


printf("a: %d  ", a);




a = a+2;

    

}



do {




printf("b: %d  ", b);




b = b – 2;



} while (b >= 3);






printf("b: %d  ", b);


}


OUTPUT:

a: 3  a: 5  b: 7  b: 5  b: 3  b: 1
2) (10 marks) Write a program that prompts for a value for year until the value entered for year is between 1990 and 2000 (inclusive).  A sample dialogue is shown below.

DIALOGUE (with inputs of 1989, 2001 and 1990):

Enter year: 1989
Invalid - must be between 1990 and 2000!

Enter year: 2001
Invalid - must be between 1990 and 2000!

Enter year: 1990
1990 is valid year

main() {


int year;


do {



printf("Enter year: ");

scanf("%d", &year);



if (year < 1990 || year > 2000)




printf("Invalid – must be between 1990 and 2000!");


} while (year < 1990 || year > 2000);


printf("%d is valid year", year);

}
3) (15 Marks) Write a program to find the total cost of shipping a number of packages.  The minimum shipping rate charged is $20.00 for a weight of up to 1 kilogram (1000 grams).  For any amount over 1 kilogram the charge is $1 per extra 100 grams.  You can assume only valid inputs will be provided.  2 sample dialogues are shown below:

SAMPLE DIALOGUE 1 (with inputs of 250, 1, 700, 2):

Weight in grams:                     250
Another package (1:yes/2:no): 1
Weight in grams:                     700
Another package (1:yes/2:no): 2

Cost is $20.00 for total weight of 950 grams 

SAMPLE DIALOGUE 2 (with inputs of 2000, 1, 100, 1, 100, 2):

Weight in grams:                     2000
Another package (1:yes/2:no): 1

Weight in grams:                     100
Another package (1:yes/2:no): 1

Weight in grams:                     100
Another package (1:yes/2:no):  2

Cost is $32.00 for total weight of 2200 grams 

main() {


int weight, another, totweight =0;


double cost;


do {



printf("Weight in grams:         ");

scanf("%d", &weight);

totweight = totweight + weight;



printf("Another package (1:yes/2:no): ");

scanf("%d", &another);


} while (another == 1);


cost = 15.00;


if (totweight > 1000) 

cost = cost + (totweight – 1000) / 100;

printf("Cost is $%3.2lf for total weight of %d\n", cost, totweight);

}
